=107 =107
5 =
g =
s 8
S k)
g 5
]
1072
1072
o .91073 L ......! L .......! L .......! L
T S H : :
14 (a2 WY SEERTRRREEY [ S CERREEEE Bereeeeenans SETERLTTTTRS
: = H H
) I 1 ¥ O e eeanas
107t 1 10 o .10 10t 10 o .10
TP, (PCA t% beamling TP, (PCA t% beamline
—— BRV eI SinusbU NEWAel 2l specpresstowpt
—— DQM™m FIt:X:MInusPU:NEW e¥au t:sEecPLesss- owEt
—— DOQM~mKFit=XiMinusPU"NEWdefault“specPLess4-lowpt
-~ —
= €
5] (5]
2 e
'\> "\N 5ttt
5 o
(o]
o [}
o}

RS
I
(14
0.95— : :2 5
10 ! TPlp?T (PCA t%obeamliné'p
n=
2
D_I—
o
5

P E——

Ratio
T

iy

0.95 .
101 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

1



	Contents
	Page 1


